INZEHEE a1, 5>FRUEIAINEET) (B4 - )
Sa= TEEE REEE =8 -
I BEFRFHINZ DA
ERIFEUA
1. ERBEERIIRA 450,000 397,487 52,513
2. BHFEIA 0 0 0
3. Tt 0 756 -756
LEIURAEET (A) 450,000 398,243 51,757
BEEEFXH

1. BXEXH 3,900,000 | 3,359,961 540,039
2 EHEXMH 1,920,000 | 1,434,526 485,474
3. Tz 0 0 0
LEAXHEET (B) 5,820,000 | 4,794,487 | 1,025513
EETHPINZEZE (C) ((A)—(B))| 5,370,000 | -4,396,244 | -973,756

I & FENUNZDEB
HEFEUNKXZEEE (D) 5,000,000 | 5,000,000 0

I B4 75 R BN D EB
BMEEENINEERE (E) 0 0 0
LIRS =& (F) ((C)+(D)+(E)) -370,000 603,756 | -973,756
AITHARERRIN L =5 (G) 0| 2,081,747 | —-2,081,747
REARERIINZ =5 (F) +(G) -370,000 | 2,685,503 | —3,055,503




